
u(jf ufpkflnsf rfn' vr{sf] afF*kmf*
;++s]t g+= Joo lzif{s 2074.75sf] k|:tfljt

1 rfn" vr{  
1=01 tnj  
1=01=1 sd{rf/L tnj 14000000.00
1=02 eQf 2300000.00
1=02=1 :yfgLo eQf  
1=02=2 kbflwsf/L eQf  
1=02=3 a}&s eQf 4360000.0
1=02=4 dx+lu eQf 435000.0
1=03 ;?jf e|d)f vr{ tyf b}lgs eQf  
1=03=1 ;?jf e|d)f vr{ 100000.00
1=03=2 e|d)f vr{ 500000.00
1=04 kf]zfs 400000.00
1=05 cf]iflw pkrf/ 100000.00
1=06 ;]jf lga[Q ;"lawf  
1=07 tflnd sfo{s|d vr{  
2 sfof{no ;+rfng / ;]jf vr{  

2=01 kflg tyf lah"nL 300000.00
2=02 ^]lnkmf]g dx;"n  
2=02=1 ^]lnkmf]g dx;"n 300000.00
2=02=2 P=l*=P;=Pn tyf cGo 150000.00
2=03 sfof{no ;+rfng ;+alGw vr{  
2=03=1 sfof{no ;+rfng vr{ 1350000.00
2=03=2 %kfO{ vr{ 1500000.00
2=03=3 kq klqsf tyf k":ts vr{ 100000.00
2=03=4 ;"rgf la!fkg vr{ 100000.00
2=03=5 ;"rgf k|sfzg vr{ 100000.00
2=03=6 ladf s/ tyf glas/)f vr{ 400000.00
2=04 ef*f 1000000.00
2=05 dd{t tyf ;+ef/  
2=05=1 ;jf/L ;fwg dd{t 300000.00
2=05=2 laB"lto pks/)f dd{t 100000.00
2=05=3 sfof{no ;fdfg / kmlg{r/ dd{t 100000.00
2=06 O{Gwg tyf cGo Ogwg  
2=06=1 O{Gwgkbflwsf/L 500000.00
2=06=2 OGWfg sd{rf/L 500000.00
2=06=3 cGo Ogwg 100000.00
2=07 kf/d;{ tyf cGo ;]jf z"Ns  
2=07=1 k/fd;{ z'Ns 500000.00
2=07=2 ;/;kmfO{ tyf cGo ;]jf z'Ns 100000.00
2=08 lalaw vr{  
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2=08=1 ;b:otf z'Ns 100000.00
2=08=2 cfyL{s ;xfotf 300000.00
2=08=3 k'/:sf/ tyf k|f]T;fxg 100000.00
2=08=4 ufpF;ef ;+rfng vr{ 1000000.00
2=08=5 lalaw vr{ 1500000.00
2=08=6 n]vf kl/If)f vr{  
2=08=7 aflif{s ;]jf z'Ns ;km^j]o/ 1500000.00
2=08=8 j*f sfof{no lrof gf:tf vr{ 675000.00
4 ;]jf vr{  

4=01 k'':ts tyf ;fdfu|L  
4=02 bdsn ;+rfng vr{ 100000.00

4=03
ufpFkflnsf :tl/o oftfoft u'? of]hgf
th'{df  

4=04 kbk'lt{ ;+rfng vr{  
4=05 sd{rf/L sNof)f sf]if 300000.00
9=01 e}kl/ 17230000.00

  hDdf 52500000.00

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1= 6 uf=kf=sf] k|zf;lso ejg lgdf{)f
sfo{

90,00,000.—

2= 3 j*f sfof{no ejg lgdf)f{ sfo{ 25,00,000.—
7 j*f sfof{no ejg lgdf)f{ sfo{ 25,00000.—

4= ;*s lkr sfo{
5 x]=kf]=rf]s b]lv r}gk'/ df=la=;Dd 50,00,000.—
4 p&}of rf]s b]lv bLk]Gb| cf=la=;Dd 50,00,000.—

5= (n lgsf; 0
6 u(jf rf]s b]lv k|gxf ;f]tf ;Dd 50,00000.—

6= d]lzg/L pks/)f vl/b 85,00,000.—
9= a; kfs{ lgdf)f{ 15,00,000.—

10= kSsL gfnL ;lxt ;*s u|fe]n
2 dxb]jf ,#'>f,,. 10,00000.—
2 krxf yf? a*sf uNnL 10,00000.—
2 a#d?jf 5,00000.—
7 rGbgk'/ 25,00000.—

u(jf uf=kf=:t/Lo k"af{wf/ tkm{sf of]hgfx? M—
?=7,27,23,325.—



11= :^n lgdf)f{ 25,00000.—
12 ;—;fgf of]hgf km'^s/

cWoIf÷pkfWoIf $f/f l;kmfl/; eO{
sfof{Gjog x'g] _

15,00000.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

13 vfg]kfgL tkm M—
3 v}/]gL ,dfwjk'/ kfO{k nfO{g la:tf/ 10,00,000.—

3 uf]a/jl*xfdf l*k af]l/Ë 10,00,000.—

5 afFsL ,r}gk'/, k|gfx vfg]kfgL
cfof]hgf

15,00,000,.—

1 vfg]kfgL kfO{k la:tf/ / l*kaf]l/Ë
h'/f}gL ,sfnfsf^],wf]w|],^x*f, dndnf .

25,00,000.—

14 lzIff k"af{wf/ lasf; sfo{qmd 20,00,000.—
15 s[lif l;+rfO{ tyf t^aGwg sfo{qmd

8 sf]O{nfaf; vf]nf kSsL k"n b]lv
pQ/ t^aGwg sfo{

23,00,000.—

3 sknL vf]nf lgoGq)f sfo{ . 5,00,000.—
4 k|;]gL sd}of a:tL ^«fG;kmd{/ vl/b 5,00,000.—
5 ;f]gk'?jf,vh/f}^f ^«fG;kmd{/ vl/b . 10,00,000.—

7 emf/a}/f ^fG;kmd{/ vl/b . 5,00,000.—
2 dGb|]gL vf]nflgofGq)f sfo{ . 5,00,000.—



3 vf}/fxf vf]nf lgofGq)f sfo{ . 500000.–

1 wfgvf]nf h'/f}gL s[lif ;*s lgdf{)f
sfo{

5,00000.—

16 1—7 k'/fgf] of]hgf e'QmfgL sfo{ 2,62,100.—
17 kmlg{r/ tyf kmlg{l;Ë Ao:yfkg 20,00,000.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

18 u(jf ldl^Ë xn lgdf{)f lg/Gt/tf 20,00,000.—
19 k|x/L la^ lgdf{)f 64,725.—

uf=kf= sf] Uof/]h tyf df]^/
;fOsn :^\of)* lgdf{)f

6,00,000.—

6 u(jf O{nfsf k|x/L Uof/]h lgdf{)f 1,50,000.—
4 k|;]gL sne^{ lgdf{)f 3,00,000.—
7 dsgxjf af^f] tyf sNe{^ lgdf{)f

sfo{
4,00,000.—

3 kSsL gfnL tyf af^f] lgdf{)f sfo{
v}/f

4,00,000.—

3 kSsL gfnL tyf af^f] lgdf{)f sfo{
/tgk'/

4,00,000.—

2 vfg]kfgL df]^/ vl/b sfo{-krxf
a#d?jf dxb]jf_

4,00,000.—

8 sf]O{nfaf; af^f] u|]an sfo{ 2,00,000.—
20

3
ljljw M—
af^f] u|]an—;'k}nf 3 2,00,000.—

3 gfnL lgdf)f uf]a/l*xf 3 3,00,000.—
4 ;fj{hlgs hUuf ;+/If)f sfo{ 4 2,00,000.—
5 afFsL ;fO{/fd dlGb/ dd{t sfo{ 5 50,000.—

s"n hDdf 6,98,26,825.—

  ut jif{sf e'QmfgL ug{ afFsL of]hgfx?

1 j*f g_= 1 agaf<L kSsL s'nf] lgdf{)f 50000

2 j*f g_= 1 a*x<fs]f l;FrfO{ u]^ eNj 37500

3 j*f g_= 3 (n lgsf;f <tgk'< 50000

4 j*f g_= 3 cfo'j{]b cf}ifwfno uf]a<l*xf 50000

5 j*f g_= 4 ufl*Psf] 64 j^f kf]ndf tf< lj:tf< 219000

6 j*f g_= 4 ;fd'lxs ejg 350000

7 j*f g_= 4 v*sk'< dlxnf ejg 50000



8 j*f g_= 4 a'^]gL df^f] lklnË 125000

9 j*f g_= 5 ;fd'bflos ejg nlIft tkm{ 340000

10 j*f g_= 5 r}gk'< :s'n df^f] lkmlnË 150000

11 j*f g_= 5 s'zd#f^ afFw lgdf{)f 150000

12 j*f g_= 5 kl;{of sNe^{ lgdf{)f 125000

13 j*f g_= 5 afFsL kf]n lj:tf< 25000

14 j*f g_= 6 ljw't lg<Gt<tf 375000

15 j*f g_= 6 sf]l^of dlGb< rkL{ (f]sf < df^f] lkmlnË 100000

16 j*f g_= 7 dlxnf ejg 100000

17 j*f g_= 7 ;]d<Ldf df]^< v<Lb 125000

18 j*f g_= 2 df]^< v<Lb sf]&<L 200000

19 j*f g_= 2 dlxnf ;fd'bflos ejg lgdf{)f dxb]jf 250000

20 j*f g_= 2 l<Ë s'jf lgdf{)f #';|f 25000

hDdf ?= 2896500

qm=
;+=

j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1= 1 xl/ofnL tyf afn pBfg lgdf)f{ 15,00,000.—
2 xl/ofnL tyf afn pBfg lgdf)f{ 15,00,000.—
6 xl/ofnL tyf afn pBfg lgdf)f{ 15,00,000.—

2= uf=kf=:t/Lo /+uzfnfsf] l*=lk=cf/=tof/L 5,00,000.—
3= Nofg lkmN* ;fO* lgdf)f{ tyf kmf]xf]/ d}nf

Aoj:yfkg sfo{
15,00,000.—

4= uf=kf=sf] a[xt u'? of]hgf lgdf)f{ 25,00,000.—
5= uf=kf=:tl/o ;*s oftfft u'?of]hgf lgdf)f{ 7,00,000.
6= xl/ofnL k|j{#g sfo{qmd 5,00,000.—
7= cWoIf lakb\ Aoj:yfkg sf]if 20,00,000.—
8= dd{t ;+ef/ laif]z sf]if 10,00,000.—
9= 5 uf=kf=:t/Lo lakGg, a]/f]huf/ o'jf tyf

dlxnfsf] nflu . -s[lifdf cfwfl/t_ pBf]u .
20,00,000.—

s_ cuf{lgs sfutL v]tL . 5,00,000.
v_ s[lif pBf]u :yfkgf . 10,00,000.—
u_ uf/d]G^ ;DalGw cfo d"ns sfo{qmd 5,00,000.—

10= ;fa{hlgs hUuf ;+/If)f sfo{qmd 3,00,000.—
11= laleGg sfolawL, lalgod, lgb]{lzsf lgdf{)f . 289418.—

uf=kf=:t/Lo k|j{$gfTds k"jf{wf/ tkm{sf of]hgfx? M—
?=2,16,57,318.

—



12= sd{rf/L Ifdtf lasf; 3,00,000.—
13= cf] P)* Pd ;a]{ 3,00,000.—
14= :yfgLo lakb\ Aoj:yfkg sfo{of]hgf lgdf{)f

.
1,00,000.—

15= hgk|ltlgwL Ifdtf lasf; tflnd 2,00,000.
16= sd{rf/L hgk|lgwL cg'ej cfbfg k|bfg . 5,00,000.—
17= sd{rf/L sfo{ ;Dkfbg k|f]T;fxg sf]if 8,00,000.—
18= uf=kf=ejg dd{t ;+ef/ 10,00,000.—
19= Plss[t ;DklQs/ Aoj:yfkg sfo{qmd 10,00,000.—
20= :jf:Yo If]q laif]z sfo{qmd 10,00,000.—
21= s/bftf lzIff sfo{qmd 2,00,000.—
22= gful/s lzIff sfo{qmd 1,00,000.
23= snf :+f:s[lt ;+/If)f sfo{qmd 2,67,900.—
24= uf=kf :t/Lo ljsf; kqsf/Ltf tflnd 1,00000.—

s'n hDdf 2,16,57,318.
—



qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 afnd}qL :yfgLo zf;g sfo{qmd . 15,00,000.—
2 lakGg afnaflnsfsf] nflu k|flalws

lzIff %fqa[lQ sfoqmd .
5,00,000.—

3 lakGg afnaflnsf laBfno lzIff
%fqj[lQ sfo{qmd.

5,00,000.—

4 2 ;xsf/L dfkm{t cleefjssf] cfo
cfhg lrdlrd]df b'gf^k/L pTkfbg
sfo{qmd .

5,00,000.—

6
;xsf/L dfkm{t cleefjssf] cfo
cfhg sfo{qmd vj/Ldf afv|f kfng
.

5,00,000.—

5 cleefjs —lzIfs—laBfyL{ ldng
sfo{qmd

1,00,000.

6 lszf]/ lszf]/L÷ afnaflnsf ;"rgf
k|;f/)f sfo{qmd .

2,00,000.—

7 afnaflnsfsf] :j:Yo ;'wf/ sfo{qmd
.

2,00,000.—

8 laBfnosf] ;'wf/ sfo{qmd . 3,26,000.—
9 k':tsfno ÷afrgfno cg'bfg

;xof]u .
6 b]pv'/L ;fd'bflos k':tsfno 1,00000.—
3 ;/:jtL p=df=lj afrgfno 1,00000.—

cGo afrgfno 1,00000.—
s'n hDdf 46,26,000.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 1 lakGGf dlxnfsf] nflu n#'pBd
sfo{qmd -;xsf/Ls/)f agfO{ _ .

5,00,000.—

2 dlxnf laz]if sfo{qmd . 1,25,000.—
3 dlxnf cfo cfh{g tyf #'DtLsf]if j*f g+= 90,000.—

uf=kf=:t/Lo nlIft au{ tkm{sf] of]hgf tyf sfo{qmdx? M—
s"n /sd ?=92,52,000.—

s_ afnaflnsf M— 15%n] ?= 46,26,000.—

v_ dlxnf M— 3% n] ?= 9,25,260.—



sfo{qmd . 6 / 7

cGo afFsL If]qx? 1,10,260.—
4 :jo+;]ljsf uf=kf=:t/ cled'lvs/)f

sfo{qmd .
1,00,000.—

hDdf ?= 9,25,260.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 cWoIf uf]N*sk v'Nnf k|ltof]lutf
v]ns'b sfo{qmd

4,00,260.—

2 3 o'jf :j/f]huf/ sfo{qmd 5,25,000.—
3 hDdf ?= 9,25,260.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 lbj; sfo{qmd . 25,000.—
2 sfg"gL ;xfotf sfo{qmd . 1,00,000.—
3 h]x]Gbf/ %fqa[lQ sfo{qmd . 1,00,000.—
4 6 cflbaf;L hghftL ejg lgdf{)f sfo{

.
1,00,000.—

5 7 yf? dlxnf sfo{qmd . 1,00,000.—
6 1 yf? d?jfyfg h]&fgufpF . 50,000.—
7 2 yf? ;+:s[lt ;+/If)f . 1,00,000.—
8 5/6 gd"gf a:tL -a+u'/ Aoj:yfkg_ . 1,00,000.—
9 3 ;'k}nf du/ ejglgdf{)f . 1,00,000.—
11 4 lzj dlGb/ dd{t . 50,260.—
12 3 dlGb/ dd{t . 1,00,000.—

hDdf 9,25,260.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 4 db|;f k|;gL rkL{ lgdf{)f . 1,00,000.—
4 g'l/ dl:hb 1,00000.—

2 8 u]^ tyf rkL{ lgdf{)f . 2,00,000.—

u_ o'jf M— 3% n] ?= 9,25,260.—

#_ cflbaf;LhghftL M— 3% n] ?= 9,25,260.—

ª_ dw]zL,d'l:nd,lk%*f au{M— 3% n] ?= 9,25,261.—



3 ;r]tgf sfoqmd . 50,261.—
4 h]x]Gbf/ %fqa[lQ sfo{qmd . 1,00,000.—
5 lbj; sfo{qmd . 25,000.—
6 ofba ;dfh ;]jf ;+# ejg lgdf{)f

.
2,00,000.—

7 cjlw ;+:s[lt ;+/If)f sfo{qmd . 50,000.—
8 6 ofbj ;+u|xfno ;+/If)f sfo{qmd . 50,000.—
9 1 d'l:nd cfo cfh{g sfnfsf^] . 50,000.—

hDdf 9,25,261.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 lbj; sfo{qmd . 8,766.—
2 ckfËsf] nflu XjLn lro/ lat/)f

sfo{qmd .
200000.—

3 ckfË laz]if sfo{qmd . 100000.—
hDdf ?= 3,08,766.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 1,2,3 nf]safhf ;+/If)f 1,00,000.—
2 4,5 nf]safhf ;+/If)f 1,00,000.—
3 6,7 nf]safhf ;+/If)f 1,00,000.—
4 lbj; ÷;df/f]x 8,400.—

hDdf ?= 3,08,400.—

qm=;+=
j*f
g+=

of]hgfsf] gfd :yfg /sd s}lkmot

1 h]i& gful/s lgz'Ns :j:Yo lzla/
;Ddfg sfo{qmd .

308400.—

hDdf ?= 3,08,400.—

r_ ckfË M— 3% n] ?= 3,08,766.—

%_ blnt M— 1% n] ?= 3,08,400.—

h_ h]i& gful/s M— 1% n] ?= 3,08,400.—




